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QUESTION 1

Solidity files: 

A. can\\'t be split across multiple files, everything should be in one single file. 

B. can be split across multiple files, but every contract must be in a file with the same name as the contract itself. 

C. can be spread across multiple files. To import all contract from a file you can use "import \\'myfile.sol\\'. To import
Contract MyContract from myfile.sol you use "import {MyContract as SomeContract} from \\'myfile.sol\\';". 

Correct Answer: C 

 

QUESTION 2

Proof of Work (PoW) vs. Proof of Stake. 

A. PoW is computationally intensive which requires lots of energy. On the other hand, miners earn straightforward a
reward for mining a block and incorporating transactions. 

B. PoW is better than PoS, because with PoS we increase the amount of energy spent on the network. 

C. PoS is mining with specialized new hardware that has to be purchased with a stack of Ether in the network. Hence
the Name: Proof of Stake, which derives from Stack. 

Correct Answer: A 

 

QUESTION 3

A Mapping consists of keys and value. 

A. the Keys can be anything, but the value can\\'t be another mapping or struct. 

B. the Value can be anything, but the key cannot be another mapping, struct, integer or Boolean. 

C. the value can be anything, but the key cannot be another mapping, struct, enum or dynamically sized array. 

Correct Answer: C 

 

QUESTION 4

If we divide two integers: 5/2, the result is: A. 2, because the decimal is truncated. 

B. 3, because it\\'s always rounded. 

C. 2.5, because it\\'s automatically converted into a float. 

Correct Answer: A 
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QUESTION 5

The Fallback function: 

A. cannot receive Ether, not even by adding the payable modifier. 

B. can contain as much logic as you want, but it\\'s better to keep it short and not exceed the gas stipend of 2300 gas. 

C. can be used to avoid receiving ether. 

Correct Answer: B 
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